gg-ﬁ OFFICE OF STATEWIDE HEALTH PLANNING AND DEVELOPMENT
Lﬂ.ﬁ,hm.. FACILITIES DEVELOPMENT DIVISION

APPLICATION FOR OSHPD SPECIAL SEISMIC OFFICESEONLY
CERTIFICATION PREAPPROVAL (OSP) APPLICATION #: OSP - 0627

OSHPD Special Seismic Certification Preapproval (OSP)
Type: [X New [] Renewal

Manufacturer Information

Manufacturer:  Price Industries Ltd.

Manufacturer’s Technical Representative: David Surminski

Mailing Address: 638 Raleigh Street, Winnipeg, MB R2K 3Z9

Telephone: 204.661.7866 Email: = DavidS@priceindustries.com

Product Information

Product Name: ULTRASUITE® (Diffuser with Integrated LED Lighting)

Product Type: Air Terminal Device

Product Model Number: _ Varies (See attachment)
(List all unique product identification numbers and/or part numbers)

General Description: Modular diffuser panel with lighting drivers. Seismic enhancement and modifications made to

test units to address anomalies observed during testing shall-be incorporated into production units.

Mounting Description:  Ceiling suspended (See attached)

Applicant Information

Applicant Company Name: _TRU Compliance, by Structural Integrity Associates, Inc.

Contact Person: Katie Braman

Mailing Address: 5215 Hellyer Ave., Suite 210, San Jose, CA 95138

Telephone: 844-878-0200 Email: kbraman@structint.com

| hereby agree to reimburse the Office of Statewide Health Planning and Development review fees in
accordance with the California Administrative Code, 2016.

Signature of Applicant: GKMMW Date: 11/13/2019

Title:  Program Manager Company Name: TRU Compliance, by Structural Integrity Associates, Inc.
“Access to Safe, Quality Healthcare Environments that Meet California’s Diverse and Dynamic Needs” |j|'th O S H P D

STATE OF CALIFORNIA — HEALTH AND HUMAN SERVICES AGENCY |"'|'w "

OSH-FD-759 (REV 12/16/15) Page 1 0of 3

06/24/2020 OSP-0627 Page 1 of 16


mailto:DavidS@priceindustries.com
mailto:kbraman@structint.com

i FACILITIES DEVELOPMENT DIVISION

.._Q OFFICE OF STATEWIDE HEALTH PLANNING AND DEVELOPMENT
HI;IWI' J'l‘ Wy

California Licensed Structural Engineer Responsible for the Engineering and Test Report(s)

Company Name: TRU Compliance, by Structural Integrity Associates, Inc.

Name: Andrew M. Coughlin, SE California License Number: S6082

Mailing Address: 5215 Hellyer Ave., Suite 210, San Jose, CA 95138

Telephone: 844-878-0200 Email: acoughlin@structint.com

Supports and Attachments Preapproval

[ ] Supports and attachments are preapproved under OPM-
(Separate application for OSHPD Preapproval of Manufacturer’s Certification (OPM) of Supports and attachments is required)

XI Supports and attachments are not preapproved
Certification Method

X Testing in accordance with: ~ [X] ICC-ES AC156
[l Other (Please Specify):

Testing Laboratory

Company Name: Environmental Testing Laboratory

Contact Name: Jeremy Lange

Mailing Address: 11034 Indian Trail, Dallas, TX 75229

Telephone: (972) 247-9657 Email: jeremy@etldallas.com

STATE OF CALIFORNIA — HEALTH AND HUMAN SERVICES AGENCY
OSH-FD-759 (REV 12/16/15)

“Access to Safe, Quality Healthcare Environments that Meet California’s Diverse and Dynamic Needs” W)\QNAM O S I I P D

Page 2 of 3

06/24/2020 OSP-0627 Page 2 of 16


mailto:acoughlin@structint.com
mailto:jeremy@etldallas.com

gg-ﬁ OFFICE OF STATEWIDE HEALTH PLANNING AND DEVELOPMENT
é’w.’h'm\- FACILITIES DEVELOPMENT DIVISION

Seismic Parameters

Design in accordance with ASCE 7-10 Chapter 13: [X] Yes [] No
Design Basis of Equipment or Components (Fp/Wp) = 1.50 (Sps=2.00g @ z/h = 1.0); 1.13 (Sps=2.50 @ z/h = 0.0)
Sbs (Design spectral response acceleration at short period, g) = 2.00g (z/h = 1.0), 2.50g (z/h = 0.0)

ap (In-structure equipment or component amplification factor) = 2.5

Rp (Equipment or component response modification factor) = 6.0

Qo (System overstrength factor) = 2.0

Io (Importance factor)= 1.5

z/h (Height factor ratio) = 1.0 (Sps =2.00g), 0 (Sps=2.509)

Equipment or Component Natural Frequencies (Hz) = See Attachment
Overall dimensions and weight (or range thereof) = See Attachment

Equipment or Components @ grade designed in accordance with ASCE 7-10 Chapter 15: [ ] Yes [X] No
Design Basis of Equipment or Components (V/W) =

Sbs (Design spectral response acceleration at short period, g) =

Spb1 (Design spectral response acceleration at 1 .second period, g) =

R (Response modification coefficient ) =

Qo (System overstrength factor) =

Cq (Deflection amplification factor) =

Io (Importance factor) = 1.5

Height to Center of Gravity above base =

Equipment or Component Natural Frequencies (Hz) =

Overall dimensions and weight (or range thereof) =
Tank(s) designed in accordance with ASME BPVC, 2015: [] Yes [X] No

List of Attachments Supporting Special Seismic Certification

X Test Report(s) [] Drawings [] Calculations XI Manufacturer's Catalog
XI Other(s) (Please Specify):  Product Matrices

OSHPD Approval (For Office Use Only) — Approval Expires on December 31, 2025

Signature: M M%__, Date: June 24, 2020

Print Name: Mohammad Aliaari Title: SSE
Special Seismic Certification Valid Upto: Sps(g)= See Above z/h= _ See Above

Condition of Approval (if applicable):

“Access to Safe, Quality Healthcare Environments that Meet California’s Diverse and Dynamic Needs” ‘Jn;th O S I I P D

STATE OF CALIFORNIA — HEALTH AND HUMAN SERVICES AGENCY |"'| UH W

OSH-FD-759 (REV 12/16/15) Page 3 of 3

06/24/2020 OSP-0627 Page 3 of 16



SPECIAL SEISMIC CERTIFICATION
CERTIFIED COMPONENTMATRIX  RJICER I

1900461-CR-001 R3 COMPLIANCE

Manufacturer: Price Industries Ltd.
. TABLE 1

Model Line: ULTRASUITE

Certified Product Construction Summary:
14 GA. Aluminum Plenum, extruded aluminum outer frame, tig welded plenum, diffuser face and outer frame.

Certified Options Summary:
Remote driver

Mounting Configuration >>* ;
Ceiling suspended/mounted - rigid

Note: Installed mounting configuration must be of similar configuration and equivalent strength and stiffness to those tested.

Sy=2.0g z/h=1.0

Building Code: CBC 2019 Seismic Certification Limits: I=1.5
Sps=2.59 z/h=0.0
Dimensions (in Weight
Model Line Model : (in) = N s Notes uuT
Depth | Width | Height | (lb)
24 24 12 28 lower limit Extrap.
Single module w/ vertical and
horizontal Remote Driver,
24 24 18 54 . . . 1
84lbs. weight with mounting
hardware
Single module Interp.
UltraSuite Modul 48.5 24 18 109  |Single module Interp.
ULTRASUITE traSuite Modular
System 6.85 psf |Array module Interp.
Unit array w/ horizontal and
vertical Remote Driver, Seven
7) 18"x24"x4
1705 | 97.75 18 703 |\7)18"x24"x48 modules and 2
four (4) 18"x24"x24" modules,
9591bs. weight with mounting
hardware
no limit | no limit 18 6.85 psf |upper limit Extrap.
Notes:

'No portion of the configured unit shall be more than 4 feet from a seismic brace.
’Arrays shall use Price Industries Ltd.'s Hospital Grade Ceiling System (HGWC), see UUT 2 for installation details.
*See UUT Summaries for mounting details.

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 4 of 16



SPECIAL SEISMIC CERTIFICATION

1900461-CR-001 R3 COMPLIANCE
Manufacturer: Price Industries Ltd. Table Description: Modular Light Panels and Driver Panel TAB L E 2
Model Line: ULTRASUITE
L e .. Sps= 2.09 z/h=1.0
Building Code: CBC 2019 Seismic Certification Limits: bs 9 7 Ip= 1.5
Sps= 259 z/h=0.0
M Li Dimension (in Weight .
odelLine Model {in) : & Material Notes uuT
(Manufacturer) Depth | Width | Height | (lb)
2x2x12 24.25 24.25 12 28 Extrap.
| | UUT1: standalone, UUT2: four (4) unit
ULTRASUITE (Price) 2x2x18 24.25 24.25 18 28 Aluminum with Polymer arravs 1,2
rice Perforated Diffuser Face y
2x4x12 48.5 24.25 12 56 Interp.
2x4x18 48.5 24.25 18 56 UUT2: seven (7) unit arrays 2
2 Drivers-H 114 15.5 5 15 Extrap.
4 Drivers-H 22.6 15.5 5 29 1
6 Drivers-H 33.7 15.5 5 43 ) Interp.
- Carbon steel panel Horizontal mount
8 Drivers-H 44.8 15.5 5 57 Interp.
10 Drivers-H 55.9 15.5 5 71 Interp.
. ) 12 Drivers-H 67.1 15.5 5 85 2
Remote Driver (Price) -
2 Drivers-V 11.4 15.5 5 15 Extrap.
4 Drivers-V 22.6 15.5 5 29 1
6 Drivers-V 33.7 15.5 5 43 . Interp.
- Carbon steel panel Vertical Mount P
8 Drivers-V 44.8 15.5 5 57 Interp.
10 Drivers-V 55.9 15.5 5 71 Interp.
12 Drivers-V 67.1 15.5 5 85 2

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 5 of 16



SPECIAL SEISMIC CERTIFICATION
CERTIFIED SUBCOMPONENT MATRIX Flr'IEE T R U

1900461-CR-001 R3 COMPLIANCE
Manufacturer: Price Industries Ltd. Table Description: Controls T AB L E 3
Model Line: ULTRASUITE
i - e . = 2, h=1.
Building Code: CBC 2019 Seismic Certification Limits: Sos 09 2/ 0 Ip= 1.5
Sps= 259 z/h=0.0
Model Li Dimension (in Weight
ocettine Model - {in) : X% Material Notes UuT
(Manufacturer) Depth | Width | Height | (lb)
Low Volt T inal
ow Vottage fermina KT3 1.22 1.87 1.25 <1 Plastic housing 1,2
Block (Magnum)
TB300-02QC6 2.13 1.33 0.81 <1 1
High Voltage Terminal TB300-03QC6 2.69 1.33 0.81 <1 LD factory-wired with TB300-02QC6 2
astic housin
Block (Bussman) TB300-04QC3 3.25 1.33 0.81 <1 & low voltage field connections Interp.
TB300-04QC16 3.25 1.33 0.81 <1 low voltage field connections 2
LED Drivers L
HLG-100H24B 8.7 2.7 1.5 2.5 /|Carbon steel housing 1,2
(Mean Well)
Solid State Relay I I
KSI600D60-L 2.3 1.9 0.8 0.2 Plastic housing 1,2
(Kudom)

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 6 of 16



UNIT UNDER TEST (UUT)

SUMMARY SHEET FFIEE TRU

1900461-CR-001 R3 COMPLIANCE
Manufacturer: Price Industries Ltd.
Model Line: ULTRASUITE
uuT Unit Description Report Number Testing Laboratory Sps z/h Ip
Stand Alone Modular Unit Environmental Testing 2.0 1
1 15437, Rev. 1 15
18"x24"x24" Laboratory (ETL) 2.5 0
Ganged Modular Units Environmental Testing 2.0 1
2 15437, Rev. 1 15
18"x97.75"x170.5" Laboratory (ETL) 2.5 0
Notes:

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 7 of 16



UNIT UNDER TEST (UUT)

SUMMARY SHEET Frl|EE T|2U
1900461-CR-001 R3 COMPLIANCE
Manufacturer: Price Industries Ltd.

Model Line: ULTRASUITE U UT 1
Model Number: ULTRASUITE - Stand Alone Modular Unit Serial Number: N/A

Product Construction Summary:
Aluminum with polymer perforated diffuser face

Options/Subcomponent Summary:
Single module (18"x24"x24"), 4 Driver-H, 4 Driver-V, Low voltage terminal block (KT3), High Voltage Terminal Block (TB300-

02QC6), LED Drivers (HLG-100H24B ), Solid State Relay (KSI600D60-L)

UUT Properties
Weight Dimension (in) Lowest Natural Frequency (Hz)
(lb) Depth Width Height Front-Back Side-Side Vertical
54 24 24 18 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (g) z/h lp Arxt (8) | Arig-n (8) | Arixv (8) | Aric.v (8)
CBC2019 ICC-ES AC156 (2018) ig ég 15 3.2 2.4 1.67 0.67

Test Mounting Details:

Unit was mounted to the ceiling mount test fixture using four (4) 3/8" -A307 threaded rods and Mason UCC 1 rod, two (2) per 3"
threaded rod/Unistrut assembly. Each rod/Unistrut assembly attached to the fixture with two (2) 3/8" nuts and two (2) 3/8"
washers. Two (2) Mason SCB-0/SCBH-0 cable assemblies (pre-stretched gal. aircraft cable 3/32"@) were used to support the unit.
Cables were hung at 45° (£15°).

Unit maintained structural integrity and remained functional per manufacturer requirement after shake table test.

Contents were included in testing per operating conditions.

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com

06/24/2020 OSP-0627 Page 8 of 16



UNIT UNDER TEST (UUT)
SUMMARY SHEET FI"IEE TRU

1900461-CR-001 R3 COMPLIANCE
Manufacturer: Price Industries Ltd.

Model Line: ULTRASUITE U U T 1
Model Number: ULTRASUITE - Stand Alone Modular Unit Serial Number: N/A

Mounting Details:

Mounting Hardware 3' x 1-5/8" x 1-5/8" 12 ga plain steel half slot
strut channel

3/8" A307 threaded rod
(2) Mason SCB-0/SCBH-0 Cable Assemblies

3/8" nut, not visilbe in picture. Installed on
top of plate washer

/ Iruuunummum‘.. ks

3/8" plate washer J

(2). Price mounting bracket(PN: 272272-001),
Bracket constructed of 0.110' carbon steel.

R

Mounting Hardware at Fixture

Top of channel:
3/8" washer and nut

Bottom of channel:
3/8" washer and nut

1-5/8" x 1-5/8" 12 ga plain
steel half slot strut channel

3/8" A307 threaded rod |

Mason UCC 1 Rod Clamps l

(2) Mason SCB-0/SCBH-0
Cable Assemblies

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com

06/24/2020 OSP-0627 Page 9 of 16



UNIT UNDER TEST (UUT)
SUMMARY SHEET FFIEE TRU

1900461-CR-001 R3 COMPLIANCE

Manufacturer: Price Industries Ltd. T
Model Line: ULTRASUITE U U 1
Model Number: ULTRASUITE - Stand Alone Modular Unit Serial Number: N/A
Price Mounting Bracket Details:
opy isankey Buusaubug
i L 0 =
s - & Eo
= £
=
o -
L
i a
( }7 @ &
! g g
| = .
[ —_ L = " w|E2
o0 128
| () —T % ] LCEg
| | 5 1 3 AL
P bk L.
| I 1 Fu
! = | £ |2
) | | 3o
. 1 =
B gl ©
| = ~ i
= |11 1 L1
i L —
£ S =
B =
g E 2 ]
= ] =T, =
=t i B
— AN P R =
& & 5 =
: 1) ’ g @
& L & E
B =
f ZAIE E g
3 2 = ' HHHHE
g :‘ wee _:§°-L“§£
o g =] = S
I\ = 3 L5 |3k
= = T (5]
g O 1 f 07 es1 & =
£ — &
2 = g
£ o £
15 E
= =S =]
H = EETS =
= @ ki
z —® 000
g 3 § BRE B =
=t o - - = a
3 B
£ E l;.:
Sl
I EAZT LTSGR EE L LGB0 50 ELISN B0NIE P S MSESEULAID AL 1000020 Brs By, | Uoiianor] &)14 Iovelas]

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 10 of 16



UNIT UNDER TEST (UUT)
SUMMARY SHEET

parice |[TRU

1900461-CR-001 R3 COMPLIANCE
Manufacturer: Price Industries Ltd.

Model Line: ULTRASUITE U U T 2
Model Number: ULTRASUITE - Ganged Modular Units Serial Number: N/A

Product Construction Summary:
Aluminum with Polymer Perforated Diffuser Face, array installation with 18"x 24" x 24" and 18" x 48" x 24" lighting modules.

Options/Subcomponent Summary:
Subcomponents: Four (4) modules (18"x24"x24") and seven (7) modules (18"x48"x24") array, 12 Driver-H, 12 Driver-V, Low
voltage terminal block (KT3), High Voltage Terminal Block (TB300-03QC6), High Voltage Terminal Block (TB300-04QC16), LED

Drivers (HLG-100H24B ), Solid State Relay (KSI600D60-L)

Option: Price Industry Hospital Grade Welded Ceiling System (HGWC) used at all'array voids. (PN: 5116 & 5117, 6060-T5 Al)

UUT Properties
Weight Dimension (in) Lowest Natural Frequency (Hz)
(Ib) Depth Width Height Front-Back Side-Side Vertical
793 170.5 97.75 18 N/A N/A N/A
UUT Highest Passed Seismic Run Information
Building Code Test Criteria Sps (g) z/h lp Arxt (8) | Arig-n (8) | Arixv (8) | Aric.v (8)
CBC2019 ICC-ES AC156 (2018) 28 1.0 15 3.2 2.4 1.67 0.67
2.5 0.0
Test Mounting Details:

UUT was mounted to ceiling mount test fixture with sixteen (16) 1/2" A307 threaded rod and Mason UCC-1 rod clamps, two (2)
used per 3' threaded rod/Unistrut assembly. Each rod/Unistrut assembly attached to the fixture with two (2) 1/2" nuts and two
(2) 1/2" washers. Sixteen (16) Mason SCB-2/SCBH-2 cable assemblies (pre stretched gal. aircraft cable 3/16"g) were used to
support the unit. Cables were hung at 45° (+15°). See mounting details on page two for mounting detail specifics.

Unit maintained structural integrity and remained functional per manufacturer requirement.

Contents were included in testing per operating conditions.

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com

06/24/2020 OSP-0627 Page 11 of 16



UNIT UNDER TEST (UUT)
SUMMARY SHEET

1900461-CR-001 R3

COMPLIANCE

Arice

Manufacturer: Price Industries Ltd.

Model Line: ULTRASUITE U U T 2
Model Number: ULTRASUITE - Ganged Modular Units Serial Number: N/A

Mounting Details:

Mounting brackets, carbon steel - 0.110" thick (Price PN: 272272-001), shall be installed with (3) 1/4" bolts with 1" OD fender
washers. Re-entrant corners will use (3) brackets connected with "T" top plate and (2) brackets at braced corners connected with
"L" plate. Detail for "T" and "L" brackets shown below. No portion of the configured test unit was more than 4 feet from a seismic
brace. HGWC used in all array voids, details for HGWC shown below.

1/2" A307 threaded rod ]

F112hnut |

i

1/2" plate washer |

M (2) Mason SCB-2/SCBH-2 Cable Assemblies

‘ -

Bottom View of Top Mounting Hardware

/4————{ 1/2" plate washer |

3 x1:5/8" x 1-5/8" 12 ga plain steel half slot
strut channel

1/2" A307 threaded rod I

(2) Mason SCB-2/SCBH-2 Cable Assemblies

1/2" nut ]
(2) Price mounting bracket(PN: 272272-001)
with "L" plate. Both plate and bracket
constructed of 0.110' carbon steel.

or

(3) brackets on re-entrant corners with "T" plate

Interior of Diffuser Mounting Hardware

\

1" OD Fender Washer

P 1
x

1/4" washer

1/4" Nyloc Nut

06/24/2020

OSP-0627

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
Page 12 of 16



UNIT UNDER TEST (UUT)

SUMMARY SHEET FFIEE i

1900461-CR-001 R3 COMPLIANCE
Manufacturer: Price Industries Ltd.
Model Line: ULTRASUITE U UT 2
Model Number: ULTRASUITE - Ganged Modular Units Serial Number: N/A
Mounting Details:
Top of channel:
1/2" washer and nut
Mounting Hardware at Fixture
~= = Bottom of channel:
\\3& Q;!a’n. ¥t [~ 1/?2"°wn;:h:r :r?g?wut
AR = % -
N \ L —— & ol Lﬁ“y Mason UCC 1 Rod Clamps
n NeesEE=cT - Ly -

1-5/8" x 1-5/8" 12ga plain
steel half slot strut channel

@ < O
1 14 ] fls 1
] One (1) Price mounting
/ 2 u . 06/2 2020t 1 bracket at location
3 O Sho §
7/ . ]
\/’<\ %’-- u Two (2) Price mounting
[0) |
/?/V/ [ 1] bracket at location
A BuL '
2 3 3 I
X —e- 1 (»> X 3
\ B 1 Three (3) Price mounting
J ] bracket at location
1 1 - 1 1

®_ XIIIIII'I—IIIIII,I\_{ =

X 1/2 " A307 THREADED ROD/ 2.5" UNISTRUT ASSEMBLY
AND MOUNTING BRACKET

® MASON SCB2/SCBH2 CABLE BRACES. Max distance from any portion of unit to cables = 4

PRICE INDUSTRIES (PN: 5116-Full Tee, 5117-Half Tee), 6060-T5 Aluminum
HOSPITAL GRADE WELDED CEILIN SYSTEM (HGWC)

Bracing Direction for tested unit

4+ Attachment to ceiling fixture

4+ Attachment to test unit

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 13 of 16



UNIT UNDER TEST (UUT)
SUMMARY SHEET FFIEE TRU

1900461-CR-001 R3 COMPLIANCE

Manufacturer: Price Industries Ltd. T 2
Model Line: ULTRASUITE U U
Model Number: ULTRASUITE - Ganged Modular Units Serial Number: N/A
Price Mounting Bracket Details:
opy isankey Buusaubug
B s g =
s - & Eo
X £
— 1
ECEE
& o
! £ H
| v
| o s 3
| — # = A n iz
2] ~ |28
| () — % M-S
| | 5 1 3 AL
h 3 L
| L 1 Fa
! & £ |2
) | | 2o
. T £l
= A g
= |11 1 L1
B L —
£ '_-.—"' =
B =
2 i P 2
= ] =T, =
- £ ]
— AN P R =
& & 5 =
H U 5 &
& L & E
B 2
f ZaIE E g
5 : _ §3g |
£ 2 gz HEE LR
& o - = T H s
5 o wee Mg E|E T § &
1 o S =1z 153
I\ = 3 L5 |3k
s E =4 a
g O 1 1 07 es1 & =
g — =
z = g
5 o £
15 &
= o S
; = a9t =
= @ ki
= STy
g 3 § BRE B =
=t o - - = a
3 B
B HE
=ip
IR ZSZT LTI GREE L LS 001500 BN 30INUI0 P STISHELAID LT (00000 B B, | U000 &)14 HIovelas]

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 14 of 16



UNIT UNDER TEST (UUT)
SUMMARY SHEET

1900461-CR-001 R3

parice |[TRU

COMPLIANCE

Manufacturer: Price Industries Ltd.
Model Line: ULTRASUITE
Model Number: ULTRASUITE - Ganged Modular Units

Serial Number: N/A

Price "T" Bracket Details:

7
= 3
719 g
e s
=
N & =
8 = &
g in
S = —
: f
| é
= 1=} g
§o| E| 2 s Zo
gE| 2 | 2 |2 4
=] ? = '3’
R Rl 4
NEE VG \JT7F ¢
8= o &
Clii & i : 7
3
&
= .
£
g2
3
£
£
EE I | 7] P
3[Z(S
27 1 fld
@5 -
=iz | /
Bs i
T VRV
H g L8]
H 5 w
2 o
. |2|=
N B[R 0
N : |olm
3 z |2
28|23 —
mol=lw
= - 19|z @
o c |Z=
g = T -
i m ;%?
w | L] g‘g
h Erginesring Feguest MNe:
TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 15 of 16



UNIT UNDER TEST (UUT)
SUMMARY SHEET FFIEE TRU

1900461-CR-001 R3 COMPLIANCE

Manufacturer: Price Industries Ltd.
Model Line: ULTRASUITE U U T 2
Model Number: ULTRASUITE - Ganged Modular Units Serial Number: N/A

Price "L" Bracket Details:

I3 H
.‘:‘ E.
9] g
- 18 =
M e
B —J
= = _Q-‘
H
: z
==& =
2 i g
g
2 n {
] =)
= s a T
3 . Ey
= e 2
=
m| [
=
=T | J E
2 | 2| 5 A
2ol 5| £|F - 2, |
2| 5| & |2 s U
F ] =1 o
HERFRLS | [ H
SRR §
g 3|8 gzl 3
s ] ) — B
o= —
gg | q . &
- =2 =]
[=]
. 4
g | -
= | in 5
=i = f-—
=
2 |
=
o ] i
i
I
E]
E
z
g
Z
&) o
x5 d8
§ =2 >
3= mo
I
- =
oo = -O
n o 2
2Ew
S
o 0
E & r
i 5
g g %
« |RZ
A ] S 0
R = 10
(1 3] :Um
0 - P | B
=19 —
2512 —
3 2 19l @
=i = |Z[=
H = o
o m
- w]
Ea?
E 4
T &=
3

Ergineering Aequast No:

TRU Compliance, by Structural Integrity Associates, Inc.
844-TRU-0200 | info@trucompliance.com
06/24/2020 OSP-0627 Page 16 of 16





